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204 1,000 [109. 01, 06[ it ¢ b ~ & ¥Edcet « 4 A et~ £ £
2O 1,000 [109.01. 06| b § #eet + & pdces « 4 a4 ~ £ £ 40
2O 1,000 [109.01. 06| b § #eet « & pdces « 4784625 ~ £ £ 40k
PO 1,000 [109. 01, 06| b § #eet « & Rdces « 4784625 ~ 4 £ f0ik
202 1,000 [109. 01, 06| b § #eet « & pdces « 4 a4 ~ £ £ 40k
2O 1,000 [109. 01, 06| it ¢ #cet « & ¥Rdces « 4 7a4625 ~ £ £ g0
MO 1,000 [109. 01, 17| Ak § #eet + &EHces « 4784625 ~ £ £ 40k
20 1,000 [109. 02, 05] ik § #eet « &EHces « 4 a4~ £ £ f0ik
2O 1,000 [109.02.05] ik § #eet « &EHces « 4 a4~ 4 £ f0ik
2O 1,000 [109. 02, 05( Ak § #eet + & EHces « 4 a4~ 4 £ H0ik
O 1,000 [109.02. 05] Ak § #eet + & ERHces « 4 a4 ~ £ £ H0ik
20z 1,000 [109.02. 05] Ak § #cw4 + & ¥pces « 47842 ~ 4 £ 4
E¥or? 1,000 [109.02. 05] At ¢ et ~ & ¥pdeet « 4 jaH e« £ £
MO 1,000 [109.02. 19] Ak § #eet + & pdces « 4 a4~ £ £ 40k
FOF 1,000 [109.02.20( Ak § #eet « & EpHces « 4 a4~ £ £ HOi
204 1,000 [109.03.02f Ak § #eet « & Epdces « 4 a2~ £ £ 4Ok
20" 1,000 [109.03.02f Ak § #ret + &EEHces « 4 A2~ 4 £ 4O
2O 1,000 [109.03.02f Ak § #ret + &HEHces « 4 jEH2 ~ 4 £ 4T
O 1,000 [109.03.02f Ak § #ret + &EEHces « 4 A2~ 4 £ 4O
202 1,000 [109.03.02f Ak § #ret + &EHces « 4 A2~ 4 £ 4O
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Bi¥E 2 1,200 [109.03. 13| Ak § #cps ~ Adffens ~ 2iadkres ~ & 4 4ok
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